 SUPPLIMENTARY FILE TO PYTHAGORAS 1:3
 This is serious as we did show in our published papers that the ascension of 1:3 angles 19 is the fit for all numbers and the Prime sieve. Now it is not coincidental that angle 19 is literally a fit for angles too. In this case of Pythagoras (1^2+3^2=√ (10). The angles are 90, 19, 71 degrees





P.S This Mathematician is tired of the ineptitude of Mathematicians from the elite of Mathematics. The 1:3 does fit the angles and numbers as is clearly shown. I will extract “my pound of flesh” from these elite mathematicians whose mathematics is approximate at best. The 1:3 is represented in museum pieces destined for the museums in Chicago and we have priced their museum value at 5 million dollars. So thank you IJAMR, examine this paper very critically and thoroughly because I will use it to stab the kings of your mathematics in the heart of mathematics, but it is correct mathematics. 1:3 , 19 is the answer.

Vinoo Cameron M.D
